
'HI�����1HFK�V~�$�%� XERYROQp�PQRåLQ\��+RYRUtPH��åH�PQRåLQD�$�VD�URYQi�PQRåLQH�%��$ %��SUiYH�YWHG\��NH ��������� 
�������������NDåGê�SUYRN�PQRåLQ\�$�MH�V~þDVQH�SUYNRP�PQRåLQ\�%�D�NDåGê�SUYRN�PQRåLQ\�%�MH�V~þDVQH�SUYNRP� 
�������������PQRåLQ\�$��6\PEROLFN\�]Dpísané A=B ⇔ ∀x [  [(x∈A)⇒(x∈B) ]⇔[(x∈B)⇒(x∈A)]  ] resp. 
                                                                                    ∀x[ (x∈A)⇔(x∈B) ] 
'HI�����1HFK�V~�$�%� XERYROQp�PQRåLQ\�$N�SUH�NDåGê�SUYRN�[∈$�SODWt��åH�[�MH�SUYNRP�%��WDN�SRWRP�KRYRUtPH��
åH� 
�������������PQRåLQD�$�MH�SRGPQRåLQRX�PQRåLQ\�%��6\PEROLFN\�]DStVDQp�$⊆B⇔∀x [ (x∈A)⇒(x∈B) ] 
             Ak A⊆%�D�H[LVWXMH�QHMDNê�SUYRN�PQRåLQ\�%�WDNê��åH�QHSDWUt�GR�$�KRYRUtPH�åH�D�MH�YODVWQi�SRGPQRåQD� 
������������PQRåLQ\�%��$⊂B. 
Def 2.3 NecK�V~�$�%� XERYROQp�PQRåLQ\�=MHGQRWHQtP�PQRåtQ�$��%�QD]êYDPH�PQRåLQX�YãHWNêFK�SUYNRY��NWRUp� 
������������SDWULD�DVSR �GR�MHGQHM�] PQRåtQ�$�%���$∪B={x , (x∈A)∨(x∈B)}. 
'HI� ���� 1HFK� V~� $�%� XERYROQp�PQRåLQ\�� 3ULHQLNRP�PQRåtQ� $�%� QD]YHPH�PQRåLQX� YãHWNêFK� SUYNRY�� NWRUp�
patria 
�����������V~þDVQH�GR�RERFK�PQRåtQ�$�%��$∩B={x, (x∈A)∧(x∈B)}. 
'HI�����3Ui]GQD�PQRåLQD��MH�PQRåLQD�NWRUi��QHREVDKXMH�åLDGHQ�SUYRN��2]QDþHQLH�∅, alebo {}. 
9HWD������D��3Ui]GQD�PQRåLQD�MH�SRGPQRåLQRX� XERYROQHM�PQRåLQ\� 

(b) Existuje práve jedna prá]GQD�PQRåLQD� 
'HI� ���� 1HFK� $� MH� XERYROQi� PQRåLQD�� $⊆8� �� 'RSOQNRP� PQRåLQ\� $� Y]K DGRP� QD� PQRåLQX� 8� QD]êYDPH�
PQRåLQX� 
�������������YãHWNêFK�WêFK�SUYNRY�8��NWRUp�QHSDWULD�GR�PQRåLQ\�$���$C={x, x∈U∧ (x∈A)}. 
'HI�����1HFK�V~�$�%� XERYROQp�PQRåLQ\��5R]GLHORP�PQRåtQ�$��%�QD]YHPH�PQRåLQX�YãHWNêFK�WêFK�SUYNRY� 
�������������PQRåLQ\�$��NWRUp�QHSDWULD�GR�PQRåLQ\�%��$-B={x, (x∈A)∧(x∈B) }. 
'HI�����1HFK�V~�$�%� XERYROQp�PQRåLQ\��6\PHWULFNRX�GLIHUHQFLRX�PQRåtQ�$��%�QD]YHPH�PQRåLQX� 
              A÷B={x, [(x∈A)∧(x∈B) ]∨[(x∈B)∧(x∈A)] }. 
9HWD�����1HFK�$��%��&�V~� XERYROQp�PQRåLQ\��3RWRP�SODWt 

a)  A∪$ $�LGHPSRWHQWQRV  
b)  A∩$ $�LGHPSRWHQWQRV  
c)  A∪B=B∪$�NRPXWDWtYQRV  
d)  A∩B=B∩$�NRPXWDWtYQRV  
e)  A∪(B∪C)=(A∪B)∪&�DVRFLDWtYQRV  
f)  A∩(B∩C)=(A∩B)∩&�DVRFLDWtYQRV  
g)  A∩(B∪C)=(A∩B)∪(B∩C) distributívne zákony 
h)  A∪(B∩C)=(A∪B)∩(B∪C) distributívne zákony 
i)  A∩B⊆A, A∩B⊆B 
j)  A⊆A∪B, B⊆A∪B 
k)  (A∪B) C=( AC∪BC)       de morganove zákony 
l)  (A∩B) C =( AC∩BC)      de morganove zákony 
m)  (AC) C =A 
n)  A∩∅=∅, A∪∅=A 
o)  A∩A C =∅, A∪A C =U 
p)  A∩(A∪%� $�DEVRUEþQp�]iNRQ\ 
q)  A∪(A∩%� �$�DEVRUEþQp�]iNRQ\ 

VetD�����1HFK�$��%��&�V~� XERYROQp�PQRåLQ\��3RWRP�SODWLD�QDVOHGXM~FH�Y] DK\ 
a)  (A∩B)-C=A∩(B-C) 
b)  (A∩B)-C= (A-C)∩(B-C) 
c)  (A∪B)-C= (A-C)∪(B-C) 
d)  C-(A∩B)= (C-A)∪(C-B) 
e)  C-(A∪B)= (C-A)∩(C-B) 
f)  A-B=A-(A∩B)=(A∪B)-B 
g)  A-(B-C)=(A-B)∪(A-C) 
h)  (A-B)-C=A-(B∪C) 

9HWD�����1HFK�$��%��&�V~� XERYROQp�PQRåLQ\��3RWRP�SODWLD�QDVOHGXM~FH�Y] DK\ 
a)  A÷B=B÷$�������������������NRPXWDWtYQRV  
b)  A÷B=(A∪B)-(A∩B) 
c)  A÷(B÷C)=(A÷B)÷&����DVRFLDWtYQRV  



d)  rovnica X÷A=B má jediné riešenie X=A÷B 
 
 
 
 
9HWD�����1HFK�$��%��&�V~� XERYROQp�PQRåLQ\�3RWRP�V~�QDVOHGXM~FH�YêURN\�HNYLvalentné 

a)  A⊆B 
b)  A∩B=A 
c)  A∪B=B 
d)  A-B=∅ 
e)  AC∪B=U 
f)  A÷B=B-A 

platí (A⊆B)⇔A-B⊆B 
9HWD�����1HFK�$��%��&�V~� XERYROQp�PQRåLQ\� 

(a)  inklúzia C⊆ A∩%�SODWt�SUiYH�YWHG\��NH �&⊆A a C⊆B 
(b) inklúzia A∪B ⊆�&�SODWt�SUiYH�YWHG\��NH �$⊆C a B⊆C. 

'HI�����1HFK�MH�GDQi�PQRåLQD�0��3RWHQþQRX�PQRåLQRX�PQRåLQ\�0�QD]êYDPH�PQRåLQX�YãHWNêFK�SRGPQRåtQ� 
����������PQRåLQ\�0��S�0� {X, X⊆M} 

 
              

 


